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Research on optimal machine conditions using a 5—axis compact cutting machine

i BETFER #HRa—X RE K

My research question is: “How much can the processing time of a product be shortened with a 3—axis
processing machine and a 5—axis processing machine?” The company I go to has only a 3-axis
processing machine, so if you do the same processing with a 5—axis processing machine, how much
waste can be reduced (such as material attachment, material detachment, and processing time) and how

would this affect profits?
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